SCHOOL OF OPEN LEARNING (CAMPUS OF OPEN LEARNING) UNIVERSITY OF DELHI DELHI-7

Ref: SOL/Gen/2017/_____

Dated _____

Sealed Percentage Rate Tenders are invited from the working contractors enlisted with CPWD, Railways, MES and Delhi University for the following work to reach the office of undersigned by 1.00 p.m. on 10/11/2017. Blank Tender form can be obtained from the General Section, Room No. 206, School of Open Learning, on payment of Rs.150/- (One hundred fifty only). The tender form can also be downloaded from SOL/DU website http://: www.sol.du.ac.in or www.du.ac.in and in case of downloaded tender form a Demand Draft of Rs. 150/- from any nationalized bank in favour of "Executive Director, School of Open Learning, University of Delhi, Delhi-7" payable at Delhi has to be enclosed.

NAME OF THE WORK	Re-development of existing lawns in SOL (North), University of Delhi
Estimated Cost	Rs. 2,00,447/-
Earnest Money	Rs. 4,010/-
Time Allowed	30 days
Cost of Tender Form	Rs.150.00
Last date of purchase of tender document	09/11/2017 up to 3.00 p.m.
Last Date and Time for Submission the Tender	10/11/2017 up to 1.00 p.m.
Date of opening of tender	10/11/2017 up to 3.00 p.m.
Name, Address and Telephone Number of the	
Contractor/Firm to whom Tender is issued	

Note: -

Earnest Money in the form of Bank draft of any nationalized bank drawn in favour of "Executive Director, School of Open Learning, University of Delhi, payable at Delhi, should accompany the Tender. The tender without earnest money will be rejected.

No arbitration in case of any dispute whatsoever will be allowed and the decision of Executive Director, SOL shall be final and binding.

ASSISTANT REGISTRAR (GENERAL) Offtg.

Re-development of existing lawns in School of Open Learning, University of Delhi					
S.N.	Sub. Head & Items of work	Qty.	Unit	Rate	Amount
1.	Supplying and stacking of good earth at site including royalty and carriage up to 5 km complete (earth measured in stacks will be reduced by 20% for payment).	275	cum	332.55	91465
2.	Supplying and stacking at site dump manure from approved source, including carriage up to 5 km complete (manure measured in stacks will be reduced by 8% for payment)				
	2.4.1 Screened through sieve of I.S. designation 20 mm	62	cum	170.70	10583.4
	2.4.2 Screened through sieve of I.S. designation 16 mm	62	Cum	192.05	11907.1
	2.4.3 Screened through sieve of I.S. designation 4.75 mm	62	Cum	209.15	12967.3
3.	Providing and laying Neelgiri/Mexican grass turf with earth 50mm to 60mm thickness of existing ground prepared with proper level and ramming with tools wooden (Dhurmos) and then rolling the surface with light roller make the surface smoothen and light watering with sprinkler and maintenance for 30 days or more till the grass establish properly, as per direction of officer-in-charge.	300	Per Sqm	203.90	61170
4.	Mixing earth and sludge or manure in the required proportion specified or directed by the Officer-in-charge	370	cum	21.35	7899.5
5.	Grassing with selection No. 1 grass including watering and maintenance of the lawn for 60 days or more till the grass forms a thick lawn, free from weeds and fit for mowing including supplying good				

earth, if needed (the grass and earth shall be paid for separately)				
2.10.1 In rows 5 cm apart in both directions	300	sqm	10.40	3120
2.10.2 With grass Turf	170	sqm	7.85	1334.5

I quoted _____% below / above on the Estimated cost Rs. 2,00,447/-.

Signature	
Name of Contractor_	
Address	

Phone No. /Mobile No
PAN No
VAT No
Bank Account Number
IFSC Code of the Bank
Name & Address of Bank

ASSISTANT REGISTRAR (GENERAL) Offtg.

GENERAL CONDITIONS

Name of work: Re-development of existing School of Open Learning Lawns, University of Delhi.

- The work shall be carried out as per CPWD Specifications 2009 Vol. I to II with up to date correction slips if any item is not available in CPWD Specifications than relevant I.S.I. Specification or decision of the Engineer-in-charge shall be followed.
- 2. The rate quoted by the Contractor's should be including all royalty, taxes, carriage all leads and lifts & stacking etc. complete up to the site of work. Nothing extra shall be payable to him on this account.
- 3. The contractor must have quoted their rates for each item of work both in figure and in words and worked out the amount otherwise tender will not be accepted.
- 4. The contractor must get acquainted with the proposed site of the works and study specification and conditions carefully before tendering.
- The contractor will have to complete the work within 01 (one) Month from the date of issue of award letter failing which earnest money will stand forfeited in favour of SOL, DU and contractor will have no claim in their account.
- 6. The under signed reserves the right to reject any or all tender/tenders without assigning any reason and no conditional tender will be accepted.
- 7. The rejected materials shall be replaced immediately by the contractor at his own risk and cost otherwise the department will not be responsible for any loss or theft. If required, the same will be removed at the contractor's cost & risk.
- 8. The contractors shall bear all charges for cartage, storage and safe custody of the materials.
- 9. No payment will be made to the contractor for damage caused by rain or other natural calamities during the execution of work and no such claim on this account will be entertained.
- 10. The contractor shall not employ child labour below the age of 18 years at the work.
- 11. The sample of materials shall be got approved from the Engineer-in-charge before supply/execution at work.

- 12. The security deposit shall not be refunded till the clearance certificate obtained from the concerned officials.
- 13. If due to any reasons the date of opening the tender has been declared holiday by the Govt. of India, then tender will be opened on next working day.
- 14. Work should be completed as per the direction of Engineer In charge deputed by the Competent Authority.
- 15. Bidder should have GST/PAN Registration Nos.

Signature	
Name of Contractor	
Address	
Phone No. /Mobile No	
PAN No	

VAT No
Bank Account Number
IFSC Code of the Bank
Name & Address of Bank

ASSISTANT REGISTRAR (GENERAL) Offtg.